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lV semester B.Sc. Deqree {CaCSS - Beg./Supp./lmp.)
Examination, APril 2019

(2014 Admission Onwarcls)
COI\4PLEI\,IENTARY COURSE IN MATHEMATICS

4C04 [/IAT-BCA : l,lathemalics for BCA - lV

T me 3 Holrs tr.iax. Lrlarks : 40

lnsttuction: Non progannable sclentific calculalat nav be use.!

4 Sla1e Newton s torward dillerence nterpolaton formulae

SECTION A

Allthe fnst 4 questons are compulsory They carry 1 mark each.

l. i lhere are 6 red and .1 wh te balls and one ballis drawn al random Wlrat s

the probabilily of a r€d ba ?

2 When do you calla so !lon to be degenerate solutior ?

3 Wrte Lagrange s lnterpo al on iorm! a.

SECT ON - B

Answerany 7 q!esl ons lrom among the qleslions 5 to 13 These quesliofscarry

5. Deiina a d screte random variable

6 Flnd the prcbabilly funclon corresponding 10 the randor. vaiabe X ol losslng
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7 F nd lhe leasible solution ol lhe lranspodal on problem using Nodh Wesi Corner

3 3
7

1 6 2

7 9 18

Supply
5
I
7
14

Demand 7 I ra

I Deline a leasible reg on in a glaph cal rnethod.

I Flnd the value oi sin %, using Lagrange's fterpolalion lomula. Thefunction

y = sin x !s glven below:

x y:sinx

00
4 a70711

2LC

I 0 G ve the qeometrlc sign I cance ol lhe lmpezoidal rule

r1 Slale lhe Lrpschilzcondlon rn Picrrds melhod

12. Sove the equatjon y' =x+y?,subjecl1o thecondllon v= 1 when x =0 2

13. State Simpson's % rLr e. 2

SECTION C

Answer any 4 qlestions lrorn among lheqrestions 14lo l9 Each queslioncarres

14. Determine lhe probability ol !hree 6's n live losses oi a fair die
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15 A company has iwo grades ot inspecrors 1 and 2, rhe memberc o, which are
to be assigned ior a q uariry conko in specl on. ll is requred ihar ar reasr 20OO
preces be /nspecied per 8 hourday. crade I inspeciorcan checkpieces ai lhe
rate oi .10 pe r ho! r. w rh an acc! racy ot 97 percent. c rade Z nspectors check
at ihe rate oi 30 pieces per hour wlh an accuracy of 95 percen( The w.oe
iato o' C .06 I pa! o, :, B! o, " C aO". ,n oe ror,.q r pp ho-. Al e o, -loo- b/ d- ,r .oo.ro, , o I o, 3. ,o .. n orod, )Ther€ are onya cra.le linspecrors and lcrade2 nspeclors avalabe to lhe
cornpany. The company wishes ro assign work lo the avarabte insDecrols so as t.
minimize the roralcosi of rhe inspection Forr.ulale this as an Lp mode.

r6 Find the initiaibas c leasibte so llion by VAN4

W, W: W, Capacjry
16 25 l3 rl
1a 14 23 13
27 18 41 19
1Q 12 15 43

F3 32
6

17. Find llre realroot ofrhe equa|on xr-2x 5=0

18 Fnd the miss ng lerm in the folowing tab€:

01
t3
29
3-
481

19 c\.- rL- cJ'rr.e lJ,eo rto,1 ..-. w.n.n,id.-o,o,o-r ow.ano. !.+lx=0 Use Picards methodto oblain yJorx=0.2S,0.5 and j.0conec othree
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SECTION D

Answerany 2 questonslronr among lhe questions 20 - 23. These questions carry

Detine va.ance. Find the variance and slandard deviaton ol lhe randorn variab e

fr"r o -r,2X aive. bv llxl= l- [0 orhetuise
Aniia Electical Company produces two Prodlcls P, and P,. Producls are
produced and so d on a weekly bas s. Th e week y producuon cannol exceed 25
Ior P rod Lrct P, and 35 ior Product P, The company em ploys lotal of 60 workers
Produci P requires 2 man weeks ol abour, which P, requires one man'weekof
abour. Prcfitmargln ol P, is Rs.60 and on P, is Fs.40. Formulate lh s problem

as an LP problern and solve ii qraphica y

flIlfl I UU I

second derivative of the iunclion tabuialed in lhe lab e

22 a.d aso i; at 
^ =2.0.

Calculate the lirst and

below ai the poini x =

10

12

1.4

1.6

1.8

2.0

2.2

27143

3.3201

4.4552

4.9530

6.0496

7.3891

9.0250

root ol the equaiion i(x) = x' x' x + 1 = 0 5


